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Abstract

Through the logical analysis of the numbers 0 and 1, continuously split the number
1, split to infinitesimal, a logarithmic function is established. The matter break-up
and space, let their set is a logarithmic function. After the introduction of Planck
length, the model of the universe is established. Conclusions are drawn from the
model: Our universe opens from 1 (There is), the universe is finite, max
1/(1.6<10% )meters. The whole process is: contraction — the origin — the
universe opens — expansion — Big Rip, end. The dimension on cosmic original
point space is invalid, and there is no external space. Direction and matter cannot
be positive at the same time. We are opposite to the direction of the mirrored
universe. Infer: The break-up of matter produces space and expands the universe.
There is a multiverse.
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In 1687, Newton published The Mathematical Principles of Natural Philosophy, he
established classical mechanics with mathematics and philosophy. This paper uses
numbers and philosophy to explore the nature of the universe.

1. Logic

0 and 1 are the origin of numbers, logical analysis of 0 and 1, as a tool and can help us
explore the source of things.

1.1 The number O

0=0 (1)
0=0+1-1+--+--+0+1-1 (2)

In equation (1), O has not changed, do not discuss in this paper. We have the
number 1 In equation (2).
1.2 The number 1 (or -1)

1=1 (3)

1=0-1+1+1 (4)

1=0001/0010+0001/0010= 0001/0100+0001/0100+0011/1000+0001/1000
= =1/co4eeeees +1/=o  {R+} (5)

In equation (3), 1 has not changed, do not discuss. Equations (3) and (4) can be
substituted into equation (2) and is part .
1.3 The equation (5)
1.3.1 In equation (5), 1 has changed and make sense.
1.3.2 Positive real number. The change in negative numbers is done by "-1".
1.3.3 If a positive number is constantly changing®, it is to be constantly subdivided,
loop down to infinitesimal.
1.4 Equations (2) and (5)

0=0+1-1+-=---* +0+1-1 (2)
{ 1=0001/0010+0001/0010=0001/0100+0001/0100+0011/1000+0001/1000

meerenez]foofurenes +1/=  {R+} (5)

In equation(2), the number 1 is generated from 0, we have 1 that can be used; in
equation(2), 1 is regularly changing, they are all meaningful.
1.4.1 Suppose there is a function y=f(x).
In equation(2), y=0, x=1, it is a necessary condition of the function.



1.4.2 Equation (5) extension

1=1/2+1/2=1/3+1/3+1/3=1/2+1/4+1/4
1/2=1/4+1/4
(L+241)+ (1/2+4---41/2)= (1/2+1/2+---+1/2+1/2)+(1/4+1/4+---+1/4+1/4)
=(1/4+1/4+1/4+1/4+-+1/4+1/A+1/4+1/4)+(1/4+1/4+---+1/4+1/4)  (6)
1/3=1/6+1/6
(14 +1)+ (1/24-+1/2)+ (1/3+++-+1/3)
= (1/4+--+1/4)+ (1/6++-+1/6)=1/12+¢-+-+- +1/12 (7)

(T4ee+1)+ (1/24---+1/2)+ (1/34=41/3)+ =ooe- =1/004ereses +1/c0 (8)

1.4.2.1 The right-hand side of the equation starts at 1 to be constantly subdivided,
loop down to infinitesimal.

1.4.2.2 Equation(6)~(8): The smaller the number subdivided on the right, the larger
the sum on the left, x | y 1 ; when the value of the subdivision on the right tends to be
infinitesimal , the sum on the left tends to infinity (x—>1/e°, y—<°),

1.5 Summarize the properties of the function y=f(x).

1.5.1 Eternity passes coordinate (1, 0) , f(x) ==>(1, 0).

152 x—>1/e=, (0<x=x1).

153xtyt, (x=>1/e, y=>=), (0<x<l, Osy<<eo),

1.5.4 Conclusion: It is a logarithmic function (or exponential) and the only(Fig.1).
1.5.5 From equation (2) and (5) to logarithm function, dynamically aggregate the
change of the number, from one-dimensional to two, there is a corresponding value in
the vertical direction.

Y y=loga|x]| _(a>0)

Fig.1




2. Physics

Mathematics has infinitesimal but there is a minimum in physics. When we introduce
the Planck length, this function curve has physical properties. The Planck length is the
minimum length, and a size smaller than it doesn't make sense (Hossenfelder
2012) .

3. Cosmic model
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3.1 Let X be the matter axis and Y the spatial axis. The break-up of matter and spatial
correspondence, their sets are logarithmic functions.

Y=logaX rotates around the X axis, form a graph with a spatial volume, the ends
are open. The space volume formed by Y=log(1/a)X is equal to it, they are equivalent.
3.2 When we introduce the Planck length, the ends are closed. I think the universe is
limited, the maximum value is 1/(1.6 X10%) basic units, when the Planck length
is introduced, its value is 1/(1.6X10%) meter, it is the maximum diameter of the
universe?.

The maximum diameter of the universe is:  Dymax= 1/€p
Dymax — The maximum diameter of the universe.

¢,— Planck length



Total space-time volume of the universe:

1/¢p
Viey = T[f |ngaXdX (a>0)
tp

The volume of space-time after the universe opened:

1
Vb(s—t) = T[f IOgZaXdX (a=>0)
tp

The next step is to determine the value of a, calculate the total space-time volume
of the universe; find our current position in space-time, and get the size of the
universe.

3.3 Figure 2 (from right to left)

The universe begins to contract from the maximum(M), gradually shrinks to the
origin(P); then Big Bang, the universe expands, Big Rip, and the universe reaches its
maximum(L), end(Wang 2017, pp147-148).

In theory, when matter is partition to a minimum(L) and is also the largest
universe(M). At this time, the universe is flat and uniform, the density of every
one cubic meter is equal, the universe can be regarded as a huge matter.

3.4 Cosmic original point

The dimension on this point space is invalid (x=1) , from minus infinity to plus
infinity, and there is no external space.

3.5 The 1 on the X axis should be understood as 1 basic unit, it should not be
interpreted as that the cosmic original point size is 1 meter.

4. The break-up of matter produces space®.
4.1 The break-up of volume

There is no space in cosmic original point, create space when opened. The more
substances are split, the more space is created.



B C

Three spheres, A thereis no space, Cspace is larger than B space.

Fig.3

A, B, C three spheres, A there is no space, C space is larger than B space(Fig.3).

4.2 Radiation

Because mass—energy equivalence, energy radiation is also a kind of matter
separation. The radiation is not continuous, it is emitted in waves, one by one and
there is gap between them. Gaps (space) are generated by radiation waves.
4.3 When the mass of a substance decreases, it is considered that a split has taken
place.
4.4 Formula

According to Einstein's mass-energy formula E = mc?

Derive out:  Vw = E/pc?

Vw — Space volume

p — vacuum energy density, 5.96x10%'kg/m3(Planck Collaboration 2016)

Vw = 1.87x10°<E

It is calculated that the radiated energy of 1 Joule can produce 1.87x10° m® space.
This is an empirical value.

5. Hypothesis

5.1 The break-up of matter produces space; when matter releases energy, it also
releases space, radiation waves cause spatial growth.

5.2 The space created by the break-up of matter expands the universe.

6. Multiverse
6.1 The paper established that the universe has boundaries. Then, there can also be
matter outside the boundary.
6.2 There is initial singularity, the Big Bang opened the multiverse (equation (2)), our
universe starts with the Planck length (equation (5)).

That is to say, the current Big Bang theory is a theory that forms a multiverse, we
are the subuniverse, a successful universe.



6.3 The multiverse has various forms: expansion, contraction, stagnation, origin
period, past, future, mirror universe, and so on.

6.4 Our universe ended after destruction, the next universe has nothing to do with us.
6.5 The total mass energy of the multiverse is zero, the mass and energy of a single
universe is not zero, the sum of the mass and energy of the adjacent universe
(including time) can be zero.

7. Discuss
7.1 Another interpretation (Fig.4)

Fig.4
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The expansion of the universe is also a process of contraction, the expansion we see
is also shrinking, it's contracting with respect to the original point. Expansion and
contraction occur simultaneously, the universe expands to the maximum and the
origin shrinks to the minimum.

The origin is not one, but countless*, the size of each origin is not less than Planck
length, the universe was opened from matter.

7.2 About dark energy

Dark energy is thought to be very homogeneous and not very dense, and is not
known to interact through any of the fundamental forces other than
gravity(Wikipedia 2022).

If dark energy can gravitationally interact with galaxies, We went back to classical
mechanics, it is the action of force causes a body to motion and through space, this is



contradictory to the retrogression speed of galaxies faster than the speed of light,
violate the special theory of relativity.

The break-up of matter produces space, when matter releases energy, it also
releases space, it's the space itself that is expanding and doesn't interact with other
forces.
7.3The preliminary theoretical formula is:

Vspace = EX*/hc

Vspace — Space volume; E — Energy; A— Wavelength; h — Planck constant
¢ — Speed of light;

7.4 About 1 and 0, with and without, existence and non-existence, the relationship
between them is an esoteric philosophical question. This paper thinks that they are
related.

In a system where there is no time, no space, and the laws of physics fail, there are
two points that can be determined: with and without; logic. Logical reasoning with 1
and 0 is an attempt.

8. Conclusion

[ . Our universe opens from 1 (There is matter) Instead of 0, “-1” is separate. We live
in a world of positive matter®.

I1. The universe is finite, maximum diameter 1/(1.6 <10 )meters.

III. The dimension on cosmic original point space is invalid, and there is no external
space.

IV. Direction(time) and matter cannot be positive at the same time. The direction
( polarity) of the mirror universe is opposite to ours®(Fig.1).

V. The break-up of matter produces space and expands the universe.

VI. There is a multiverse.

Notes

1.Why constantly change? Because the universe is constantly moving, only change
makes sense.

2.Compared with the maximum universe, the observable universe is equivalent to
volleyball and the earth.

3.This paper agree with loop quantum gravity: space is made up of discrete blocks,
there is a minimum space.

4.Same idea as Einstein.

5. Positive and negative are relative.

6.1t can be verified, if unexplained particles are found, we have to think in this respect.
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1687 FAWIHAR 1 (HARE FI AR, HBEAME A0 7 &)
o ASCHIBUF AT R0 T i AR o

1. B4

0 Al 1 BEFHIAYE, X o0 f 1 AT EE 0, 1ENTHE, gEHBIIRNIER
REYIMIE L
1.1 5% 0

0=0 (1)
{ 0=0+1-1+-----* +0+1-1 (2)

20 0 BEZN, AR HX)FELT.
1.2 ¥p 1 (81 R

1=1 (3)
1=0-1+1+1 (4)
1=0001/0010+0001/0010=0001/0100+0001/0100+0011/1000+0001/1000

meerenez]foofurenes +1/e0  {R+} (5)

L)AL, LE FXE)M @) AT MASER(2)F, £Z@) X H—
g
QG A= L.
1.3 Z52(5).
1.3.1 AL, ==,
1.3.2 IESH (ARt -1 52RO .
1.3.3 7EIEHGE N A BRI 45 Rt R A Widn o 1, W) R, B 1/,

of
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1.4 FF50(2)H1(5)

0=0+1-1+----* +0+1-1 (2)
{ 1=0001/0010+0001/0010=0001/0100+0001/0100+0011/1000+0001/1000

—eeeens =]1/c04eeeees +1/o0 {R+} (5)

FRM 0 AT 1, AT 1 AP 1 28(5)2 1 AR AT AR
e, EAIERA E .
1.4.1 R BA R y=F(x)
250(2)F y=0, x=1, EREREILEL
1.4.2 FFA(S) Y JE
1=1/2+1/2=1/3+1/3+1/3=1/2+1/4+1/4
1/2=1/4+1/4
(Le-+1)+ (/24 +1/2)= (1/2+1/2++++1/2+1/2)+(1/4+1/4+++++1/4+1/4)
=(1/4+1/4+1/4+1/4+--+1/4+1/4+1/4+1/4)+(1/4+1/4+---+1/4+1/4)  (6)
1/3=1/6+1/6
(L4ec41)+ (1/24-+-41/2)+ (1/3+---+1/3)
= (1/4++++1/4)+ (1/6++++1/6)=1/12++++++++1/12 (7)

(Thee=42)+ (1/2+--41/2)+ (1/3+4++1/3)+ ===-+- =]/004ereeee +1/0 (8)

1.4.2.1 FXALM L IHEEAWN S, 17 TR, HE 1/,

1.4.2.2 &3(6)~(8): AL HIEER D, AAKAEEERR xbyt: £
Mo FIBUE R R TR T3 /N, A RVE T IE5 K(x—~1/, y—).

1.5 G5 eREL y=F(x) FIPE

1.5.1 HLEALFR (1, 0), f(x)==>(1, 0).

&

152 x—1/ (0<x<1).
153 xlyt, (x=>1/°, y—=>oo), (0<x<1, 0<y<),
1.5.4 45t BRI ERRE EHRERED, 2ME— (B 1),
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1.5.5 WEER(2)M(5) BN Beh kL, shS8EE THmAR, W—4ER| 4k, 17 1 &
L7 AR AR -

Y y=loga|x|__(a>0)

v

2. Y&

BEEE TGN, BRI S BME T . [N R KE G,
XTI E et R A HEME R T . e KRR ANKE, HEENKE
BEEE N (Hossenfelder 2012) o

3. FHEE

A
Y |(=8)

1/1.6x10°>
>

X
(¥/R)
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3.1 W X N, Y R E . SR S A R, AR R R R HOC
F .o Y=logaX %% X e, JERC—AA T EARR EIE, W o 2 R0 .
Y=log(1/a)X JE Bl 7 (AR 5 HLARSE, EA15530.
3.2 UFAVBING ALK RS, W E A 7. IR, FHEAREK, &
KAER 1/(1.6X10°%° ) FHARAL, Y5 NP EIEN 1/(1.6 X107°)K,
ER T BB %

FHBRKNELEAX  Dumex=1/6

Dumax — T H W KEAE

6 — HHATTK

T A B AR

1/¢p
Viey = nf log®aX dx (a>0)
tp

THOT R Ja i 2 AR

1
Vb(s—t) = T[f IOgZaXdX (a>0)
tp

TP ITARREE a {5, THEH T A AR SRR SRBIEAT H AT
R HIALE, 32T RN,

3.3 B2 (NAMAD
FH MK (M 5D a4, ke 2 5ien (P, BMNESE, F
WK, PR, a8 L, FHEHKGEIES 2017, ppl47-148).
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KN B E A RE B SR, RE R 2 B I ) — Fh o SRR AS S LR 1Y,
KL R —— b RS, BT RIAE RIBR, (AR (AR bt i =
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S V= E/pc
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p—H AL B E, 5.96x107"kg/m? (Planck Collaboration 2016)
V=1.87x10°x E

B HES 1 EFREERE A 1.87x10° m> Z5[H], X — P IE.

5. i

5.1 Yl i A2 6] s W0 JRE JRCRE B I [ I AR e ), A S I8 5 e S T
K.

5.2 W5 47 AR 1R 2 TR A 5 A K

6. ZILFH

6.1 AICHIE | FHA T, ARHAN, SNAWRAT AR

6.2 FAEWIMRET i, KIBSEJFR T 20 W (X () FATHFH M B 5
KEFIE (B0 (5)). MER¥E, Mui KRB IEE It = —ANE R T I3
w, WAIRTFE, DRI

6.3 ZILFHASMIES: WK, W4, 7. FEAsHHE . 20, Kekp.
BRTE, HE.

6.4 AT FHBCKMEATR T, 5T —DFEHPEAERA LR,

6.5 ZILTHERAEN 0, BAFHAEEAN 0, ML CEEERTED FHiffEA
AT BN 0.
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7. "

1/1.6x10°"
>
X

(%)

— PR T KR R R AR AR, RATE BRI SE bR 2 1
Wedg, FRXS TR AR AR . IZIK S U RN BEAT, TR E RO, TR AR
MR FRARE—A, BRI BRSNS ANT W5 K,
HAEMFITE (K 4.

7.2 IERER

M RE RN AR IEE AN, BEARRK, B T7TEIZH, BATEA
T8 A A AR AT B A A BLAE FH (Wikipedia  2022).

WARWEREERE S B R ARSI R, AT B 728y, 2 RIPER
iz sz ), X5 E RBATHEEECEZ TR, 3 7R SUHEXE.

VIR s re 250, YRR RER RIS H, Ak, 15
HENKERR,

/
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7.3 Wl ES A 2
Vspace = EA*/hc

Vspace — X [AAFR; E—REE:; AWK h—EHEG ¢ —J6iE;

7.4 KT 1M 0. AAE. FAESAEE, ENZEFRARE - MRRKG ZH
A, ASCNAEAN AR TR

FEBATIS A, B im) . WERRA R 5t 7 2 FRfEm: M
T, . B 10 BHTRAEIE SRR AT, R,

8. &k

8.1 FATWFHM 1 CGEMFD JFEMARZ 0, -1 UM, 54, TEK5
RO, BAVERETE EY Tt A p

8.2 T RAMRM, RAHRZ 1/(1.6X10%) K.

8.3 FHH JE AU H) I RSF R A, WA A AR T

8.4 J7la (WA SHIBRARERIN NIE. 8385 S|AIMGT (Mt X °.
8.5 W 3 4% 77 2B 2 1) A 72 1 B K

8.6 fFEZ TLT 1l .

T B

1 N AZEARAA? ROV FEYIR A BIa a2, RAREAEE L.
2. WS TH HERANTHMAL, A THER S B,

3. ASCNFBIE T 51 W, a2 SRR, AR RN

4. 5% M A — 8

5. 1ESEAHXS A
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